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ONE MARK

ACCOUNTANCY

1. Accounts From Incomplete Records

2. Accouhts Of Not - For - Profit Organisation )
j ~50x1=50

TESTNO: 1

Choose the correct answer :
1.

10.

13 4

12.

(c) Bills receivables account
. Whgt is the amount of capital of the proprietor, if his assets are ¥ 85,000 and
liabilities are ¥ 21,0007 ........ '
(dl) T 64,000

 When capital in the b

The amount of credit sales can be computed from ...

{a) Total debtors account (b)- Total creditors account
{d) Bills payable account

(v) ¥ 1,06,000 (¢) ¥ 21,000
ally maintained by
mall sized sole trader pusiness (d) Mul
llowing statements is not true in re
nscientific method of recording tran

(a) ¥ 85,000

Incomplete records are gener: {a) A company

tinational enterprises
Jation to incomplete

(b) Government (c) 8
Which one of the fo
records ? {a) Itisanu

sactions

.......

13. Under the net w ok
orth '
method, the basis for ascertaining the profitis

a) T
:b') Tll‘l: ::l;ere,‘mo between the capital on two dates
i o dm:!enee between the liabilities on two dates
(d) The dll'l'e:‘:me between the gross assets on two dates
14. The capital of :: h?tw“n. the gross profit on two dates
& T usiness is ascertained by prepaﬁng
g account (b) Statement of profit or loss

(d) Statement of affairs
ol
system. i’

(¢] Balance sheet
15. Incom
. R hl;l::te records are those records which are not kept under
e ent
isa ,st‘:teme:l D;um? ney {c) Book keeping  (d) None of these
Darticular date showing the balances of assets and liabilities on a
’ {a) Statement of affairs (b) Trading account
(e) Profit and losa account (d) Balance sheet

17. i i §
Match List I with List Il and Select the Correct Answer using the Codes given

ersonal accounts
t acgept

(b) Records asc —aintalaed only for cash and p
{d) Tax au -horities do no
wear is

(c) It is su table for ail types of organisations
sginning i« ¥ 10,000,

6,000, profit marie curiig the year is¥T 2,0
~=ount of capital at

introduced is ¥ 3,0C9, find the omz

(a) T 9.000 ) F 11,000 ) T 21,000
Which »f 1he following ite né relatirg 1o bills payable is ransfeir

creditor's £ccounts ?
balance of bills pa
ccepted during the year
nt of affairs is usually pre
year (b)

{d) Loss oc
atement of affairs a

drawings Juring ey
00 and the additicuai capital
the end.

() T 2,000
ed to total

.fance of bills onyalle

b) Closing b
(d) Cash paid for pills paysiie
pared to find out the
Capital at the end of the year
cured during the year
t the beginning of

;'ah‘o

(a) Opening
(e) Bills payable &
Opening stateme
(a) Capital in the beginning of the
(e) Profit made during the year

can be found by preparing a st

the year.
(a) Opening capital
A firm has assets wor

(c) Both {al and (b) (d) Nome of these
it’s liabilities

(b} Closing capital
pital ¥ 45, 000. Then1

th & 60,000 and ca

S nmmmaner
{a) T 45,000 b) T 1,065,000 (c) T 60,000 (d) T 16,000
Pick the Odd oneé out :
{(a) Statement of affairs (b} Net worth method
n method

() Capltal compariso

r sole traders and partnership firms.
{b) Single entry system

{c) Anauity method

is suitable only fo
(a) Double entry system
{c) Both (a} and (b)

A statement of affairs res¢
count

{d} Neme of these
(2) Trading account
(d) Trial balance

mbles a
[c) Balamce sheet

{b) Profit and loss ac
Send Your Questions and Answers to Our

below.
List T List T
{iy Incomplete records ] 1. | Networth nethod
(i) Single entry system. 2. | Double entry
\ (iii) .Statemeni of affair;; me hod 5. | Small traders
tv) Noninalaccount _L F. | tncomplet: do1ble syste
Codes: (M &) (i) (v 1T [
fa) 2 3 4
(o) 4 3 1 2
\ (o) "2 a 1 !
fay 8 4 1 2
18. The different between the total of assets and totai o liaLitisies is taken as ...
(b) Capital () Profit (d) Lose

(a) Drawings
19. Credit sale is obtained from
(b) Bills payable account (c) Total debtors account
00. Statement of affairs method is also called as
(a) Net profit (b) et loss (c) Net worth [ ca
system, only personal and cash accounts aré opened.
{b) Double entry (¢ Trial balance {d) Balance Sheet
alculate profit by preparing trading and profit an

¢ entry thenitis called
affairs (e} Conversion

{a) Bills receivable account
{d) Total creditors accoust

....... method.
pital comparison {d) None o

{ these

(a) single entry
20, 1f it is desired to C

account under singl
) statement of

d loss

(<} None of these

(=) Networth
03, Pick the Odd one out :

(a) Conversion method
(<) Straight line method
....... maintains only person

(b} Double entry syatem

atement of affairs method

thod
{a) Single =ty system

{d) Neme of these DT]F.‘O

(b} St
{d} Net worth me
al and cash accounts.

24.
() Both (8] and (b}

Email Id - padasalai.net@gmail.com
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29.

30.

31.

34.

(03]
U

36.

37.

38.

_ Which of the following should not be recor

. Donations received for a specific purpose [

www.Padasalai.Net

8
Companies cannot keep books on single entry system because of ............

(a} Tax properties {b) Legal provisions (c) Both (a) and (b) (d) None of these
ded in the income and expenditure

account? ....... . ‘
{a) Sale of old news papers (b) Loss of sale of asset
{c) Honorarium paid to the secretary (d) Sale proceeds of furniture

(a) Revenue receipt

(b} Capital receipt () Revenue expenditure (d) Capital expenditure

. Subscription due but not received for the current year is ......

(a) An asset (b) A liability (¢) An expense (d) An iEem to be ignored
Receipts and payments account 188 liviiiens (a) Nominal A/c
(b) Real A/c (c) Personal A/c (d) Representative personal account

Nominal Afc

Income and expenditure accountisa........ (a)
{b) Real Afe (c) Personal A/c (d) Representative personal nccotjnt
Legacyisa..... (a) Revenue expenditure (b) Capital -expenditure

(c) Revenue receipt (di Capital receipt

. Receipts and paymenis account records receipts and payneatsof .......

(b) Capital nature only
(d) Nore of the atove

(a} Revenuc nature only.

(c) Both revenue and capital necure

. Income anc. Expenditire Accounts is preparec: to find out ..........

{a) Profit or loss M) Cash aud hank balaice

{c) Surplus or deficit {d) Firancial josition

An advance receipt of sudscriptior. from a member of thi: ron-prefit

organizaion is considered asa/an .. .......

Ab) Liability (c) Cowity 12y 4 eant

{a) E=zpense

_ If the donation is received without any specific condition, thenitisa....... i

(a) General donation (b) Specific donation

{c) Legacy (d) Grants from government

In non - profit organization, the sale of old newspapers is generally

considered asa/an ........c....

(b) Enpenditure (d) Capital receipt

{a) Revenue receipt (c) Income

On what basis the receipts and payments account is prepared ? .......

{a) Cash basis {b) Credit basis (¢) Both (d) Nome of these

Pick the odd one out :

(a) Entrance fees (b) Salaries {c) Postage (d) Telephome charges

. Which one of tbe following is correctly matched ? .........

{a} Charities - Income Account

(b) Stationery - Income Account
{c) Depreciation - Expenditure Account

{d) Grant received - Erpenditure Account

40.

41,

42,

45.

16,

47.

48.

49.

50.

www.TrbTnpsc.com
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all of the following accounts except the .........

(a) Receipts and Pa
yments account (b) Inc
(¢) Balance sheet o i

Non-profit organization Prepare

(d}) Income statement

Match List I with Lj
- h List I and Select the Correct Answer using the Codes given

List I
() Subscription
(i) Investments
(iii) Old sports materials
(iv) Admission fee

List II
Balls, bats
“Time of admission
Receive interest
Tennis or billiards -

AW o

Codes : (i) (i) (idi) (iv)
(a) 1 2 3 4
(b) 4 3 1 2
() 2 3 4 1
() 3 4 2 1

The receipts and payments account of a non-profit organisationisa .........
(a) Nominal account (b) Real account

(c) Income statement accourt (d) Financial statement

. Inccme and Expenditure account is bascd on ......... (a) Cus1 mccounting

(b) Fovernmeut accounting (:) Munageraert accounting (d) Accrual accounting

A gift made to a not - fcr - profit erganization by a will, is called .......
(a) Cubscription  fh) life m:mbership ‘ee (d) Donations
...... it>ms v/ill be re:corded incorne and zxpend'tu:e accoun:. '

(a) ‘lanitul ®) Nominid (d Revenue

...... are the amounts received b not-1or-profic organisa tion:s as a gift.

(a) Legacy (b) Donations (c)- Subseription (d) Entrance fee
Some organisations are established for the purpose of rending services to the
public without ........
(a) Any profit motive
Balance of receipts and payments account indicates the .........

(a) Loss incurred during the period

{~} Legacy

(c) Expease

(B) Any service motive {c) Both {(d) None of these

(b} Emcess of income over expenditure of the period

{c) Total cash payments during the period
(d) Cash and bank balance as on the date
is the remuneration paid to a person who is not a regular employee of

(a) Purchase of sports materials
{c) Homararium

the organization.
(b) Purchase of sports equipment
Rent expenses of a non-profit organization paid in advance.
following is the correct classification of rent.

(b) Liabilities (c) Equity

{d) Legacy
Which of the

{d) Asset
XII- Std - Ace -OM.T.-1

{a) Expense
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ONE MARK

ACCOUNTANCY

3. Accounts of Partnership Firms - Fundamental

4..Goodwill in Partnership Accounts

TESTNO: 2

Choose the correct answer :
1.

10.

_ 50 x 1=50
When fixed capital method is adopted by a partnership frim, which of the

following items will appear in capital account ? ........

(a) Additional capital introduced’ (b) Interest on capital

(c} Interest on drawings (d) Share of profit

In the absence of an agreement among the partners, interest on capitalis ......

(a) Not allowed (b) Allowed at bank rate

() Allowed @ 5% per annum (d) Allowed (@ 6% per annum

In the absence of an agreement, partners are entitled to ........ )

{a) Salary () Commission (c) Interest om loan (d) Interest on capital

As per the Indian Partnership Act, 1932, the rate of interest allowed on loans

N AALNAAMAAL 4w

advancel by partneisis ...
(a) 8% per annum (b)) 12% per annum (¢} 5% ;;e-r annow 'd) 6% zer annam
Profit af er interest o drawings, interest or. cepital and 1emuneration is
¥10,50C. Geetha, a partner, is entitled to receive conim:ssion @ 5% on
profits a ter charging such ccmraissior.. Find ou : commission ... ...

(2) ¥ 50 (o) ¥ 150 (e} T 550 fd) F 500

When a par:ner withdraws reguiarly o fixed sam of morney at the wmiddie of
2 |

every month, period for which interest is to be calculated on the drawings on

an averageis.....,

(a) 5.5 months (c) 12 months (d) 6.5 months

In the absence of a partnership deed, profits of the firm will be shared by the

(b} G meonths

(a) Equal ratio () Both {a) and (b} (d) Nome of these

Interest on capital is calculated on the .........
(a)
The rate of interest on capital is grenerally agreed by the partners and is
fa)

{d

(b} Capitai ratio

Opening capital (b) Closing capital ({c) Average capital (d) Hone of these

mentioned in the ...... Capital account (b} Profit and loss account

{c) Partpership deed Weone of these

Pick the Odd one gut :

{a} Names and addresses of all partners (b) Profit sharing ratio
{e}

{d} Intevest om partrer's capital is allowed at 7% per annum

Capital contributed by each pariner

11.

12.

13.

14.

15.

16.

L7

18.

19,

20.

www.TrbTnpsc.com

D

Which one of the following j
= lowing is Not Correctly Matched ?

Fixed capital account - Two a
% ccounts

Fluctuating cq
pital account
L ¢
(c) Interest on capital Predlt b::nce AR e
(d) artners p deed

: : -  Bacrifice ratio
Indian partnership Act was €nacted in the year....

(a) 1932 _
b 2056, () 1991 () 1992

...... can be computed by direct method or product method.
(a) Interest on drawings

(c) Partners salary

Interest on dl’ﬂwlng.

(b) Interest on capital
(d) Partner’s commiission a»

M : - Sy % &
b:llf;: List I with List Il and Select the Correct Answer using the Codes given

. List I List II
() Partnership Act 1. 2013
(i) Agreement 2. 50
(iii) Indian comparnies Act 3 Oral or written
(iv) Maximum Number 4, | 1932
Codes: (0 ([ (iv)
v 2 3 - 1 4
B 1 2 3 4
c) + 2 1 2
@ 3 4 2 1

In the absencs of any sgecific agreement partrer s loan to the firm will carry
aninmterestol ... ...

(a) 6% (b) "10% (c) 12% (d) 10%

Current accounts for partners will be opened under, .........

{a) Fixed capital method . {b) Fluctuating capital method
(c) Either fixed capital method or fluctuating capital method (d} None of these
Amount invésted by partners in the partnership business is called ........

{a) {b) Partper’s capital

(e}- Profit and loss appropriation (d) Hone of these-

The maximum number of partners in a pé.rtnerskxjp firmis.............

(a) 25 () 10 (c) 30 (d 50

Capital account balance of the sole proprietor alone as shown in the balance
sheetof .civeesr

{a) Sele ps‘opzietorship. (b) Partnership (c¢) Joint Hindu family (d} Company
The' profit or loss arising from the partnership business is shared by the

Owner’s capital

partmersinthe ..........

(b) mew ratlo {d) sacrifice ratie

[PTO

{aj old ratio {¢) agreed ratio

Send Your Questions and Answers to Our Email Id - padasalai.net@gmail.com
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21.

24.

25.

26.

27.

28.

29.

30.

31

32.

33.

34.

35.

. Intere
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able to a partner is recorded .......
{b) In capital account
(d) None of these

Under fixed capital method salary pay

{a) In current account
{c) Either in current account or capital account |
The balance in the appropriation account is transferred to the partner’s

capital account in the ....... _
(a) agree ratio (b) . sacrifice ratio {c) profit sharing ratio (d) olld ratio

st on capital is to be calculated on the capitals at the beginning for the ...
(a) Particular period (b) Relevant pelriod (d) All of these
Which of the following is shown in Profit and loss appropriation account? ......
(a) Office expenses (b) Salary of staff

(o) Par-tner’s salary (d) Interest on bank loan ‘

In India, partmership firms are governed by the Indian partnership Act......... ;
(a) 1932 {b) 1930 (c) 1992 (d) 1986

The total capitalised value of a business is { 1,00,000 ; assets are ¥ 1,50,000
and liabilities are F 80,000. The value of goodwill as per the capitalisation
method will be ......... -

{a) ¥ 40,000 {b) ¥ 70,000 {e) T 1,00,000
Which of tt e following statementsis true ? ...........
(a) Goodwil it an intanyible asset (b) Geodwill is a current ussct
{c) Goodwil it a fictitiow: asset
Which of tt e Dllowing is quz?. ......

- Total profit / numlier of years

(c) Average period

(d) T 30,000

(@) Gueodwill caraot be acquired

{a) Super frofit :
(b) Super grofic - Weighted profit [ nunber of years
(c) Super profit = Average prfit - Nermal piofit

(d) Super grofit = Average profit X Yrars of purchase
Super prof t i« the difference betveen
{a) Capital e@ployed and average profit (b) Assets and liabilities

(d) Current year’s profit and average profit

(c) Average profit and normal profit
When the average profit is F 25,000 and the normal profit is 15,000, super
profitis ...... .. la) ¥ 25000 (b ¥ 5,000 (e} ¥ 10,000 (d) ¥ 15,000
The average rate of retiurn of similar concerns is considered as .........

{a) Average profit {b) Wormal rate of return
{e) E=rpected rate of refurn {d)
Goodwill is shown under fixed assets in the .........
(b) Balance sheet
Sell- generated goodwill should not be shown in the
{b} ledger
Goodwill is paid for cbtaining ..........

Wone of these
(al Trial balance

(c) Trading account (d) Profit and loss account

{a) Jourmal (e} balance sheat {d) Beooks of accounts

(a) futore profit (b) present bemefit (c} past benefit (d} Nome of the above

Rate of interest is 11% and the rate of risk is 9% The normal rate of return is ...
(=) 11% b} 9% {e} 20% (d) 2%

36.

37.
38.

39.

40.

41.
42.

43.

45.

46.

47.
48.

49.

50.

(b) Normwal rate of retirm
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Goodwill has .......... Value.
(a) realisable  (b) fictitious () both {d) nomne of these
Net asset value method is based on the assumption that the company is
(a) A going concern (b) Going to be liquidated

(c) Both ‘a’ and ‘b’ 3 {d) None of the above
Pick the Odd one Qut :

(a) Profitability of the firm

(c) Efficiency of management

(b) Degree of competition

(d) Lack of uniformity

....... refers to series of uniform cash flows at regular intervals.

(a) Cash flow {b) Funds flow {c) Annuity (d) None of these
....... method, goodwill is calculated by multiplying the average profits by a
certain number of years of purchase. (a) Weighted average profit
(b) Super profit (c) Annuity (d) Simple average profit
Average profitis 19, 167 and normal profit is 10,000 the super profit is

a) T9 167 (b) F29,167 (©) ¥19,167 (q T 10,000
Goodwill helps in earning more profit and attracts more ..........

(a) Customers {(b) Produce::z {c) Competitors {1} Suppliers
Normal profitis .......... {a) Averaze profit earned

b) Profit earned by similar coinpailes in the ==me industry

15 Roth ‘@’ rnd U {¢) None of theae

. The total capitalised vzlue of the business is calculated b7 capitalising the

average profits on the hasis of ........ fa)  Average profit

| {c) Actual czpital emiployed {{l} None of these
Goodwill acquired by making payment in casb or kind is. caled ........

(a) Pvuchascd good.ail! (b} Self - generated goodwill

(d) ‘@’ and b’

Which is the present value of a firm’s future excess eamings ? ......

fa) Fimed asset {c} Goodwill {d) None of these
Which of the f9110wing method, goodwill is calculated by multiplying the
weighted average profit? ......... {a) Super profit method

(b) Annuity

....... method, goodwill is the excess of capitalised value of average profit of the

(c} Average goodwill

(b) Current assets

fc) Weighted average profit method {d)} All of these

business over the actual capital employed in the business.

g

{a) Capitalisation {b) Super profit (c} Weighted average profit {d} Annuify

{a} Average profit (b) Super profit (¢} Anmuity methed (d} Hone of these
The company earns a net profit of ¥ 24,000 with a capital of T 1,20,000. The

NRR is 10% under capitalisation of super profit goodwill wili be .........
(2) ¥ 70,000 (b ¥ 24,000 (e} T 12,000 1

B mm A B MW M BNS EED vE
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ONE MARK

ACCOU N'I"ANCY

5. Admisslon of a partner

6. Retirement and death of a partner

TESTNO:3

50 x1=150

Choose the correct answer :

1.

10.

Revaluation A/cisa......
{a) Real A/c {(b) Nominal A/c

The profit or loss on revaluation of assets and liabilities i
(b) The new partmer

(c) Personal Afc (d) Impersonal Ale

s transferred to the
capital account of .......... {a) The old partners

(c) All the partners (d) The Sacrificing partners

At the time of admission, the goodwill brought by the new partner may be

credited to the capital accounts of ....... (a) All the partoers

(b) The old partners {c) The new partner (d) The Sacrificing partners

If the old profit charing ratio is more than the new profi. sharing ratio ofa

partner, the dilference is called ...

(a) Capital zatio {b) Sacrificirg ratio [c) Gairing rati> () None Zi thes®

On revaluaion, the ircrease in the valie of assets leads ot ... .....
7 E:iperse (1) Nomne of thece

(a) Gain (b} Less i

James and Kamal are shariag profits and losses in the "atio of 5 * 3. They

admit Sunl as a partner giving hiry 1/5 share of proﬁt:;. Find out tae

sacrificitgratio ..........
(@ 1:3 ) 3:1  f(e) 5:3 (d) 3:5
Select the odd one out ......... {a) Revaluation profit (b) Accumulated loss

{¢) Goodwill brought by new partaer (d) Investment fluctuation fund

Balaji and Kamalesh are partners sharing profits and losses in the ratioof 2 :1.
They admit Yogesh into partnership. The new profit sharing ratio between
Balaji, Kamalesh and Yogesh is agreed to 3 : 1 : 1. Find the sacrificing ratio

between Balaji and Kamalesh ..........

fa) 1:3 h) 3:1 (e} 2:1 (d) 1:2

i g account is opened to record the increasc or decrease in assets and
liabilities.

{a) Capital {b) Partmers {c}) Revaluation {d) None of these

...... is created out of profit to adjust the reduction in the market value of the |

investmenits. (a} Invest fluctuation fund {b) Capltal fund

{c) Fized capital methed {d) Fluctuating capital fund

12.

13.

14.

15.

16.

L.

18.

e
3}

20.

21

22,

23.
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v -2
0 seseitanss ratio is th :
¢ proportion of the profit which is sacrificed or foregone by the

old partners in favour of the new partner

(a) old )
() New {e) Bacrifice (d} Agreed

D.ecrease In provision fo; bad and doubtful debts will be shown in the .......
side of Revaluation Accouht.

a) Debit
() Del (b) Credit {¢) Both ‘a’ and ‘b’ (d) Fone of these
The balance of revaluation account shows.......... on revaluation.
Profi
(a) Profit (b) Loss {¢) Profit and loss (d}) Nome of these

The revaluation profits and losses are recorded in the ..... account.
(a) Capital i (b) Revaluation (c) Profit and loss
......... is created out of profit to adjust the reduction in the market value of the
investments. (a) (b) Capital fund

(d) None of these

Invest fluctuation fund
(c) Fixed capital method (d) Fluctnating capital fund

The net result of revaluation is adjusted through the ........ accounts of the
partners. (a) Capital b} Itevaluation (d} Bank
At the time of admission of anew pzrtner, ...... profit ratio should be found out.
(a) O

(¢} Cash

-(0) New (3) Bot (a) and (b) {d) Home of these

Under revaluadon mettod geodwill aczount is vaived by crediting the old

partmers....... Seuutts in the old orofit sharing ratic.

(a) Taptal (b) Prefit an los: fe) Asse:s [d} Revaluation

In the event »f admission of a nxw pariner, légaL'y there i ..o of old
partnership.

(a) dissolation {b) Indeed (c) Both (d) Nomne of these

Balance sheet items like profit and loss account transferred to ..........
(a) old partners only
{c) retired pertners

At the time of admission of a new partner, revaluationof ....... and.....
[b) capital, Lzbilities

{b) new partners only

{d) none of these

be taken up. (a) capital, assets

{c) assets, Habilities {d) nomne of these

Undistributed profits will appear on the ...... side of the balance sheet.

{a) assets {b) liabilities (¢} Both {a) and (b} (d} Mone of these
........ is computed at the ime of admission of a new partner.
Sacrificing ratic

{d} New ratie

{a) Galning ratie (b) Capital ratio (e}

_The new partner does not bring in cash for his share of goodwill under
P g g

Memorandum revaluation

method. (a)
{b) Revaluation (e}

i) T Fehaose TV 1YY
{d) Nome of these [P 1(}
{53

Premium

’
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25.

26.

27.

28.

29.

30.

31.

2.

33.

34,

35.
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Increase in the value of liabilities, at the time of admission of a new partner,

resultsin ........ to old partners.
(b) Profit ‘() Both (a) and (b)
A, B and C are partners sharing profits in the ratio of4:2:8.C

new profit sharing ratio between A and Bwillbe.........

(d) None of these

(a) Loss
retires. The

(a) 4:3 (b) 3:4 (c) 2:1 d) 1:2 .
A partner retires from the partnership firm on 30t June. He is liable for all the
acts of the firm up to the ....... (a) End of the current accounting period

{b) End of the previous accounting period (c) Date of his retirement

(d) Date of his final settlement _

On revaluation, the increase in liabilities leads to ......

(a) Gain (b) Loss () Profit (d) None of these

On retirement of a partner from a partnership firm, accumulated profits and

Josses are distributed to the partners 04 g R

{a) New prnfit charing ratio (b) Old profit sharing ratio
(d) -Sacrificing ratio

{c) Guining rativ
‘A’wag a Jartmer in ¢ pertnership irm. He died o 21st March 2019. The final

amowit Jue to him is T 235, 000 which is ot paid in.mediately. It will e
(a)

{c) A’" txecutor accoun t

transfrred 10 ........ A’s capial azcount

(b) A’s curent account
On retire nent of a partner, general r:seve is transferred to the ... .....

{a) Cupital account of all th» patners (b) Revzywiticn accouat

{e) Capital account of the continuing partners

{d) Memorandum revaluation accoeunt
At the time of retirement of a partner, determination of gaining ratio is

required........ {a) To transfer revaluation profit or loss

{b) To distribute accumuiated profits and losses

{c) To adjust goodwill {d) Nome of these

........ is the proportion of the profit which is gained by the continuing partners.
{a) Sacrificing ratio {b) Gaining ratio
{c) New profit ratic {d) Old profit sharing ratio

..... account which is otherwise called profit and loss adjustment account.

(a) Capital {d) Goodwiil

The amount due to the ...... partner is either paid off immediately or is paid in

{b) General reserve fund {c) Revaluation

instalments.

{a) Admitting (b} Retiring {¢)} Death {d) All of the above

Send Your Questions and Answers to Our Email Id - padasalai.net@gmail.com

(d) A’s Ex>cuto: loan accourt,

36.
37.
38.

39.

41.

42.

46.

47.

48.
49.

50.

. The settlement is to be done in the manner prescribed in the

R A (PR, LOEL o % 5
. Iz hoth types of gclicies, the nsurance premium is paid by the ...

. If the goodwa'l accov.nt 's raised for 50,000 the araount is debi edto........

0, P, and Q are partners sharing the profits in the ratio of 3 : 2 : 1. [ P retires

www.Tranpsc.cié‘m

........ maybe taken on the life of the partnersin a partnership firm
(a) Life .policies (b) Insurance premium (c) Both (ai and (b) (d) Ncne of these
The section related to the retirement of partner in Indian Partnership Act is

(a) 30 (a) ®) 31 (1) {c) 21 (¢) (d) 20 (a)
When the values of liabilities increases, it resultsin .........
(a) Profit ‘(b) Loss (c) Income {d) Experses

The firm is reconstituted and other partners continue the partnership firm

(a) Contract

(b) Agreement (c) Start business (d} None of these

(a) Partnership-at-will
{c) Both ‘a’ and ‘b’

(b) Partnership deed

(d) Nome of the ahove

At the time to retirement Balance Sheet items like profit and loss account and
General reserve must be transferred to ........ (a} Revaluation A/¢

(b) Partners capital A/c (c) Both ‘@’ and ‘b’ (d) None of the above
At the time of retirement of parisiers, the existing partners stand to .........

(a) Gain (b) Loss

(c) Income {d) wone of these

{(b) Par‘nersiip sirm
(d) Nome of these

(a) Sole trideiship

R T ST

(c) Hindu undivided family
When a pa:tner leaves Tom ¢. partmerskip firm itis knownas ......
(a) Admission (b Retirement  (5) Dissolution (d) Death
=) M Goodwil aceomzt

(c) (d) Loan account

At the time of retirement of a partner, calculation of new profitratic is .....
{a) fb) Optional

The capiic! accounis uf pasiucis »

Cash account

Compulsory (e) 'Necessafy {d} Hot necessary
the new profit ratio for O and Q will be-........
{a) 3:2 (b) 3:1 ) 2: 1
Gaining ratio will be calculated by ........

(c) Old ratio minus gacrificing ratio

(@ 1:3
{a) Wew ratico minus old ratio
{b) Old ratio minus new ratio
The retiring should be paid off or the amount due to him, will D
his ..oooo.n. to the firm. f(a) Bank  (b) Loan (¢} Cash (d) None ofthese
The profit or loss arising therefrom is transferred to the capital a

e treated as

ccountsoiatd

T

the partnersin the ....... (a) New profit sharing ratic
(b} Old profit sharing ratio {c) Galning ratio {d} Sacrificing yatlo

-Ace ~OMTL-3
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ACCOUNTANCY

TESTNO: 4

7. Company Accounts

8. Financial Statement Analysis

. Choose the correct answer :

L.

_0.)

o]

10.
It

12.

After the forfeited shares are reissued, the balance in the forfeited shares
account should be transferred to ........... ’ (a) General reserve account
{b) Capital reserve account (c) Securities premium account (d) Surplus account
The amount received over and above the par value is credited to .......
{a) Securities premium account (b) Calls in advance account
{c) Share capital account

That part of share capital which can be called up only on the winding up of a

(d) Forfeited shares account

company is called ......... (a) Authorised capital

(b) Calle(l up capitai (e} Capital reserve (d) Rescrve capitals
At the tirne of forferture, share capital account is debited vritk
{(a) Face valie (b) Nomin:zl valve

When shares are issuel for rurchase of assecs, the amounf. should be

{¢) Faid up aruount () Called vy amoun®

credited to ..........

(a) Veador’s Afc (b) Sundry a's;.'ets A/: [c) i3hare capital Afc¢ (¢) Pank A/c

If a shae of ¥ 10 on whica i 8 has been paid up is forfsited. Minimum
reissue priceis ...... ‘

¥ 10 per share (b} T 8 per share (¢} T 5 per share ({d) ¥ 2 per share
The capital of a company is divided into small unitsof .........

(a) Current amount (b) Fixed amount (c) -Capital amount (d) None of these

When a company issues shares at a price more than the face value, the

sharesand saidtobea............ (a) issued at premium

(b) issued at discount {c) beth ‘a’ and ‘b’ (d) nomne of these

In the balance sheet, calls in advance should be shown as other ........
(a) Current liability  (b) Current asset

(c) Fixed assets (d) Nome of these

The public issue must be kept open for atleast .........
(2] 3 days (b) 5 days (e} 7 days
In order to meet them production must be carriedona........

(a) small scale (b) large scale {c) medinm scale (d) none of these

Issue of equity shares to the public tHrough prospectus by a public company
iscalled .........

(z) Public issue (b) Private placement {c) Rights issue

50 x 1 =50,

{d) Bonus issue

13.

14.

15.

16.

17.

12 S—

19. 7

20.

21.

26.

. The last installment called

www. TrbTnpsc.com

When excess application money, i-sz y

adjusted t 3 it i
_______ allotisnt. 1 owards allotment it is called as

(a) Pro-rata (b) QOver- -subseription (¢) full allotment

(d) none of these
According to companies (Amendment) Act 2000, & company

limited by shares

canissue........ kinds of shares.
1
(a) ) 2 () 3 () 4
The management of a company is done by ]

M )
L anadger () Employer {c) Board of Directors A (d) Owner
0
€s not form part of the company's share capital and no divided is

payable on such amount.

{a) Under subscription

(b) Over subscription {¢) Calls in advance (d) None of these

..... represents that part of authorised capital which is offered for subscription.

(a) Authorised capital (b) Issued capital

(c) Subscribed capital {d) Called up capital

is an artificial person,

‘a\ B "’\ . v
{a) Rusiness ) Industry (¢) Ozganisatica (d) Company

of the shar-eholders is limited to the face value of shares.

(a) liability “» 1) esset (c) Both (d) None of these

As per SEFI guideiines, the min mum. anplication money shall not be less
than ....... percent of the isste price,

= 10 () 15 {c) 20 (d) 25

Second installment called ........

(a) first call money

(b) Allotment money (c) Final call money (d) Application money

(a) First call monry

(b) Allotment money

(e) ‘ Abplication money (d) Final call money

. Company is a voluntary association of persons which has separate .........

(a) Legal entity (b) Veoluntary association

(¢} Common seal (d) Limited lability

. Equity shares do not enjoy any .......... (a) Equity rights

(b) Preference rights (c) Dividend of rights (d) Ordinary shares

¢ g ... refers to that part of issued capital which has been applied for an also

allotted hy.the company. (a) Issued capital
{b) Authorised capital (d) Paid up capital

Which of the following is not a tool of financial statement analysis ?.........

(c) Subscribed capital

(a) Trend analysis {b) Common size statement

(d} Standard costing

[PTO

(c) Comparative statement
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29,
" (b) Working capital
30.

31.

32.

33.

34.

35.

36.

St

38.

39.

www.PadasaIai.Net

Balance sheet provides information about the financial position of & business

{a) Over a period of time (b) As on a particular date

{c) For a period of time (d) For the accounting period

In a common- size balance sheet, if the percentage of non-current assets is
75, what would be the percentage of current assets Phspoodoen ’

(b) 125 (c) 25 (d) 100

(a) Current liabilities |

(a) 175 '
The term fund’ refers to ........
— (c) Fixed assets (d) Non - current assets
Which of the following tools of financial statement analysis is suitable when
data relating to several years are to be analysed ? ........

(a) Cash flow statement “ {b) Common size statement

(c) Comparative statement {(d) Trend analysis

The financial statements do not exhibit .......... (a) Non - monetary data
(d) Long tera <ata

(b) Past deta {(c) Bhort term data

Different 100's are used fo- analysing the .......
(b)

Common Gize: statemert c¢an be prepared with .........

(a) balance theet

\
financial statement ) J=csme utatement {a\ ncne of chese

{(a) Double colmn (b} Single criumn (¢) Thrie columns (d) Five cziumns

The term Firancial statemenc’ covers .......... {a) Profit & Joss statemznt

{b) Balance saeet and profit & {osy stateaent appropriation account

(d} one of these

(c) Profit auu loss statement ana halen.ce sheef

The term fund refers to ......... (a) Working capital (b) Opening capital

(c) Closing capital {d) None of these

Which statements are involve personal judgement in certain cases P

(a) Financial statements (b) Income statement

(¢) Profit and loss account statemént (d) None of these

...... includes manufacturing account and trading and profit and loss account.
(a) Income statement (b) Exnpenditure statement

(e) Financial statement {d) Nome of these

..... can get information about the ability of the business to repay by debits

from financial statements.
{(a) Creditors {b) Debtors
comparison is comparison within the organisation among dlfferent

(c) Owners {d) All of these

departments, division etc.

(b) Imter - firm. (d) None of these

{a) Intra - firm (c) Both ‘a’ and ‘b’

www.TrbTnpsc.com

40. ...... refers to the study of movement of figures over a period.
(a) Comparative statement (b) Common - size statement
. (¢) Trend ﬂnﬂl!t-l- (d) Funds flow analysis
........... analysis helps in assessing the liquidity and solvency of a business
concern.
. (=) F‘fnd flow (b) Trend (c) Cash flow (d) None of these

information i ; o
- S non monetary information is also important for business
decisions.

(a) Personal judgement (b) Qualitative {¢) Quantitative (d) Historical

43. ........ Is a statement of assets and liabilities which shows the financial position
as on a particular date,

(a) Financial statement (b) Trial Balance (c) Balance sheet (d) None of these

44. ...... is required in analysing thc iuiancial statements. (a) Expurt knowledge

(b) Quality information

(c) Historical data (d) None of these

-------- shows th< uet result of business activides during an acwuunting period.

(a) Eapenditare statemient (b) Finencial svatement

{c) Income state:ial {d) Nop- if tucse

46. When tigwe -elating, to several years ate considered for tne purpose of

analysis the analysis is callec. ......... \a) Horlzovtal unalyss

bl Vectical aralysiz (¢, ™nd analvsis (4! Cish flow analysis

47. Which of the following are techniques, tools or methods of analysis and

interpretation of financial statements ? ....... (a) Ratlo analysis

(b) Average analysis (¢) Trend analysis (d) All of the above

48. A technique that is used in comparative analysis of financial statementis ....... ‘

(a) Graphical analysis (b) Preference analysis

(c) Common size analysis (d) Returning analysis

firms in the

comparison is comparison of one firm with other firm or

industry.

(a) Intra firm (d) Nome of these

(c) Both ‘a’ and ‘b’

50. Comparison of financial statements highlights the trend of the ..........

(b) Inter firm

business.
‘ (d) All of the nbm;"e_

XIl - Std - Acc -OM.T.-4

(a) Financial position (b) Performance {c) Profitability
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I 0 | Marks: 50 ' 1.00: Hr. 14. When ratios ar
’_ XI[ . STD 2019 - 202 | ey € calculated on the basxs of accounting information, these are

| o N E MARK Acco U NTAN cv {c) lta.t;‘e;;;t ;f ai::r balancing statement (b) accounting statement
s

(d) accounting ratios

- 9, Ratio Analysis . 15. Match Li i ;
TEST NO s 5 10, Computerised Accounting System - Tally it L st I with List 1 and Select the Correct Answer using the Codes given
elow. ’

. Choose. the correct answer : ; 50x1=50 :

1. Proportion of share holder’s funds to total assets is called ...... - l —Wﬂ . List II
(a) Proprietary ratio . [b) Capital gearing ratio . (@ Pl'Oﬁtabilit_y ratio 1. Deb i
(c) ' Debt equity ratio (d) Current ratio ' (i) Liquidi i g o b Ea

: o 1quidity ratio 2. Debt- Equi i

2. Debt equity ratio is a measure of ........ {a) Short term solvency -| (i) Solve i E gl
(bl Lot teimni aslvaisy (c) Profitability (d) Efficiency o B _I_lcy ratio 3.  Operating profit ratio

3. Costof revenue from operations F 3,00,000 ; Inventory in the beginning of the () _Activity ratio 4. Current ratio

year ¥ 60,000 ; Inventory at the close of the year ¥ 40,000. Inventory turnover Codes : (i) (id) (iid) (iv)

ratiois..... . (a) 2 times (b) 3 times (c) 6 times (d) g times (a) 4 3 1 2
4. Current liabilities 40 000 ; Current assets § 1, 00, 000 ; Inventory ¥ 20,000. b) 3 " »
Quick ratiois ........ .
- ‘C' 3 4 1 2
fa) 1-:1 (b) 2.5:1 ) 2:1 (d) 1:2 N

5. The mathematical expression that provides a measur: of the relationship

betvreen two figures s called 16. Liquidity ratios are also culled ag

...... 1=; Current rriiz

(a) 1.2011 clusion ‘ (k) Ratfo {2) Model (d) Decisiun (b) Quick rati, \¢) Profitability ratio () Bhost terin solvency ratios
6. Equity share capicalis ¥ 2,090,000, Reserve & surplus is °F 30,2C0. Deb"nxure | 17. Pick the udd one ju .
¥ 4(,000 and the saarehold=r’s funds will be ... i*) Balarce sheet  (b)-P
(a) ¥ £,00,000 (b) 7 2,530,000 (e) ¥ 1,90,000 1d) T 1,70,000 T ' 1. "_° I5) Perccoctage (d) Time
7. Whizh ratio is the prcpertion of fxed insome bearing funds to zquity + e ITeans capanility of being converted into zash with: cass.
shareholders funds ? ..... .. Iz; ebt equity vatio  ‘b) Capltal geariug, ratio (e) ' Liquidity (b) Long tern. debis /) Tumover (c) Profitability
(c) Froprietary ratio {2j Profitobility ratio 19. ... means the finn’s ubil.ty & meet 1% Nabalities i the luwg run.
8. Cost of gom.is s.old is ¥ 4, 00, 000 and average stock is ¥ 80, 000, Stock (a) Long term solven oy (b} shiort tarin solvency (c] profitability (d) Nons of thess
turnover ratio will be ......... . 20. ... is the average time taken by the business for payment of accounts
(a) & times (b) 4 times (e} 7 times (d) 8 times I )
9.. The opening stock and the closing are F 33, 000, F 17,000 respectively. The payables.  (a) Debt collection perlod  (b) Credit payment period
average stockis ........... {e) Average collection period (d) Conversion period
(a) ¥ 50,000 (b} ¥ 25,000 (c) ¥ 16,000 (d) ¥ 30,000 2. brenien assets means current assets less stock and prepaid expenses.
10. The financial status and financial performance of business entities can be {a) Current (b) Fixed . (¢} Liquid (d) None of these
assessed through ......... (8] Anemctalanalysis 22 Which one of the following is Not correctly Matched ? ........
(b) managerial analysis (c) cash flow statement (d) nome of these
oh . : |{a3 Current ratio - Current assets / Current liabilities
11. All profitability ratigs are expressed in terms of...... | ‘ _
{a) Proportion (b) Percentage (¢) Times (d) Money {b) Quick ratio - Current assets / Current liabilities
12. Current assets of a business concern is ¥ 60,000 and current liabilities arc lic) Debt equity ratio |-  Long term debt / Shareholder’s funds
¥ 30,000. Current ratio will be .......... . l r{d} Proprictary ratio |-  Shareholderl's funds / Total assets
o dE2 by 153 fa) &z 4 S n3. ... ... isan averall measure of profitability ofabusiness CONCEern.
13. If the two it i io are from income statement, it is classified as .......
LemSIRAIEED 3 ' {a) Return on investment {b) Conversion peried
{a} balance sheet ratio (b) income statement ratio J TR
' {d) None of these [PTC

{c) imter statemew. ..iiv {d) none of these «} Average period
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27

28.

29.

30.

31.

32.

33,

WW\L Rakizsalatiete

catio is the comparison of net credit revenue from operatiohs with
average irade receivables during an accounting period.

(a) Inventory turmover {b) Trade receivable turnover

{c)] Trade payable turnover (d) Fixed assets turnover IR

. are final result of accounting work done during the accounting period.
(b) Financial statements

(d) None of these

(a) Current affairs
{(¢) Statement affairs

. Contra voucher is used for ........

(b) Withdrawal of cash from bank for office use

(a) Master entry
(d) Credit purchase of assets

{c) Reports
In which voucher type credit purchase of furniture is recorded in Tally ....
(b) Journal voucher .

{(a) Receipt voucher
ic) Purchase voucher (d) Payment voucher : .
Accounting report prepared according to the requirements of the user ISt
(b) Special purpose report

(d) Balance sheet

(a) Routine accounting report
{e) Triai balance

Which submnienu display~ groups, ledgers and voucher typesin’l ally ?......
®) Acccunting veuchers

(4) Account Infs

(a) Inventory vouchers '
{c) Compﬁnjr Info

Salary account comes undes which of the following head ? ...
(a) Direct Incoines (b* Dicct Expinscs

{¢) Indirect ncomes (d) Indirect Expenses

CAS helps to compute various taxer and «c deducy these anv. deposi: th e sam.
10 thie s

() Company account {c)

(a) Private account

Government account  (d) "None of the above

Match List I with List I and Select the Correct Answer using the Codes given
below.
List I List II
(i) Receipt voucher 1. F4
(i) Paymentvoucher 2. F9
{iiiy Contra voucher 3. F5
(iv) Purchase voucher | 4. F6
Codes : (i) (i) (iii) (iv)
&) 1 2 3 4
k) 3 4 2 1
fc} 4 3 i 2
d 2 1 4 3
In payment voucher, cash or bank account is credited and other ledger

accountis.......

{a) - debited M credited (c) both '’ and ‘0 (d) mone of these

34.
35.

. 36.
37.
38.

39.

41.
42.

43,
44,

45,
46.

47.

43.

. Which is the short cut key used for closing Tally ?

www.TrbTnpsc.com

7

"m: cl;':mge current data from Gateway of Tally press the key
a ) F2

_ {e) FS
In 2009, Tally Solutions introduced the software
(=) Tally. ERPS (b) Tally. ERP 10  (c) Tally. ERP 6.0  (d) Tally. ERP 8.0

..... refers to the system of maintaining accounts using computers.
(a) Computer software system

{¢) Computer hardware system

(d) F9

(b) Computer accounting system
i 3 3 (d) None of the above

N accou.ntmg Is an approach to maintain up-to-date accounting
records with the aid of ...... (a) System Software

(b) Aeccfuntlng Software (c) System Hardware (d) Accounting Hardware-
Accounting reports can be classified into A

...... types.
(a) Two (b) Three (¢) Four (d) Five
Pick the odd one out ! ......
(a) Journal (b) Ledger (¢) Voucher (d) Trial balance

fs] ‘et E1 (b) Ctrl+Shift +F4  (c)Ctrl + X {d) Ctsl+Q
....... is a document which contains datails of transactions.
(;a) Voucher (b) Receipt (¢) Report (d) Statameat
....... is one of the most widely us:d fiaancial accounting softwares.
la) Tally (b) Excel () Word ) Spread saeet
...... shows the company selected unc er List of Selectea Comranies on the left
pane.
(a) Tally. ERP % (b} IIizrosoft {c) Gatr of T=l5 (1)
What are the nredefined Ledger(s) in 'Tally ?
(1 Cash (iiy Profit A& Loss A/c (i) Capitet Afc

(a) Caly (i) (b) Onlv (i) {c) Both \!) and (%) {¢) Eoth (i) and (iii)
Suspense account group is defined under ..........
(a) Assets (b} Income {c) Expenditure (d) Liabilities
Transactions are to be recorded through ..... (a) Journal entries
(c) Accounting entries (d) None of these
........ is a system that provides information for decision making at all levels of
management.
{a) Computer Accounting System

(1) None of these

(b) Voucher entries

(b) Computer Information System

(c) Management Information System (d) Management Accounting System
All transactions related to receipt either in cash or through bank are recorded
(a) Payment voucher

(d) Sales voucher

(b} Contra voucher (¢} Recelpt voucher

9. Tully has ....... predefined ledgers.

{a) Two (b) Three (c) Four (d) Six
. Which of the following options is used to view Trial Balance from Gateway of
Tally ?.......... (a) Gateway of Tally » Reports ¥ Trial Balance ’

(b) Gateway of Tally - Trial Balance
(c) Gateway of Tally - Reports - Display = Trial Balance

{d} Hone of these
XII - Std - Ace -OMLT. -3
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